GROUP | - PRELIM 2018
PRE-MODEL EXAM - II

No. Of Questions: 150
Duration: 2:30 hours

1. Choose the correct option regarding Constituent Assembly.
a. Objective Resolution was moved on December 11, 1946 by Nehru
b. Objective Resolution was adopted by Assembly on January 22, 1947
c. National flag was adopted on January 24, 1950

d. On November 26, 1949 it held its final session

SIFFlweoemioli] mMiTtewiwl Fenul OSHmLTUTe Fflwmen CaHiTemen HTemis:

a. @N&Gamer  FHiTomein ChpoeUTHeTTed  19gbuT 11, 1946  Sieim
Oament(HeugliLLL &

b. @&&8sme &iromend eeufl 22, 1947 SISIBIGBEBIS CBTeTETIILIL L G

c. CxAwbsmg mereuf 24, 1950 9iEIBIGBMBISOBTETETLILIL L S

d. @zl wismL fb gl LD HaubuT 26, 1949 SiSIBIBemL LGLIMBBS

2. Match the following

A. Tst Buddhist Council 1. Mogalliputta Tissa
B. 2nd Buddhist Council 2. Mahayanist
C. 3rd Buddhist Council 3. Sutta pitaka
D. 4th Buddhist Council 4. Sthaviraradims
A B C D
a. 3 4 1 2
b. 4 3 1 2
c. 2 1 3 4
d 1 2 3 4
CUIT(HSHSHIH:

A. a0 UdHd Halerdled 1. Qursreduyl Lm




B. @pewi_meoug UsHd Heyeidlev 2. 1DST  WITGIITE6IT

C. wpamralsl LUHd Haleadled 3. &6% L&
D. preismaig UhdH Heerdleo 4. eOSHTNTTEUS 60T
A B C D

a 3 4 1 2

b 4 3 1 2

C 2 1 3 4

d 1 2 3 4
. Pyruvic acid is a carbon compound

a. Two b. Three c. Four d. Five
mL(HaNS DIOGVLD 6TTLIEHI 6T1HSHMe HiTLIe Oldbmewi GFTIoLD

a. ®yewi(H b. cpem C. BTG d. bl

. Liberation of carbon dioxide during respiration is demonstrated by

a. Kunhne’s tube experiment

b. Test tube and funnel experiment

c. Ganong’s light screen experiment

d. Ganong’s respiroscope expetiment

GaUTdHH0GICUTEH SHTLGT-ML -SpHenervB  Oleualwimeumsd FHiepLldb@GHn S Uie]
. GneeNY GHLDED . SLUI) b. SiUieE@EIpe0 Leed Suie]

c. Crammmidler @ellHHT SLUia] d. Caammidear seuTFonel Suie)

used in manufacture of azo-dyes

a. Nitrous acid b. Nitric acid

c. Liquid ammonia d. Liquid Nitrogen
SIGsT FTwmSET HWTTLLSE LWeTLBHMS

a. MBLIED SIleVLD b. ewpLAs uflevid
C. SHlyeu SIDGLomedniwm d. Syeu ewpl yegest

. An example of herbicide is

a. P, P! - dichlorodiphenyl trichloro ethane
b. 2, 4 - Dichlorophenoxy acetic acid

c. Bordeaux mixture

d. Bothband c
BHM6NH0BT60605HEG TBHHISHHTL (H
a. p,p! - oL&CaGym-enLLienested L eny@&Genm@ym w&HGg 60




b.2, 4 e &CemGymiammaban) o8 fle oufevld
c. GumTLm®Herd Hevenal
a. b @b ¢

. On which date UN issued stamp to honour M.S. Subbulakshmi on her
birth centenary?

a. October 2, 2016 b. September 16, 2016

c. October 2, 2015 d. October 24, 2016

Q.BT. FenLl  6Ib.eTer0.&LILe0l&Oulledr  BIBmrewnTgenet OC&TewiLTBL  alHLoTS
DIehFeLHMeV OleuaMull L [BT6

a. o168 mur 2, 2016 b. @Qari_wbur 16, 2016

Cc. 91&8LmuT 2, 2015 d. &&C8Lmur 24, 2016

. Which of the following public sector banks would receive the loans from
New Development Bank of BRICS countries?

a. Punjab National Bank b. Canara Bank

c. Bank of Baroda d. State Bank-of India

by OurgHibaiems amis  BRICS mreseflar ‘U euendd)  eumiaSui b
Bmba sLar uBISBE?

a. uehami G eumig) b. @emm eumid

c. uGymLmT eumId) d. @b @I eumia (SBI)

. Degressive tax means
a. Tax rate decreases with increase in tax base
b. Tax rate remains same with tax base
c. Itisa blend of progressive and proportional tax
d. It is a blend of regressive and proportional tax

108 eueniiais euflalgHiiy (pews 616

a. eufwiesr gl Homb DIFHSMbGWD Gurg eaufl i GHempHBSH

b. aufl aigupd euflulest SpgriLienL. HeT(Lpd LOTBTE (HEBEGLD

c. aldswemm aufl algly, euenm aig eufl el e Gyewiho Gaibhs
HEVENGL

d. Gzuley eafs aflealdiy wes, aldswens afl aldiy odu SresiGLd
Gaibs SH6VEM6Y

10. Match the following :

A. Laplace 1. Tidal Hypothesis
B. Hubble 2. Nebular Hypothesis




C. Jeans and Jeffrey 3. Gaseous Hypothesis

D. Kant 4. Big Bang Theory
A B C D
a. 2 4 1 3
b. 1 4 2 3
c. 2 3 1 4
d 4 3 2 1
QUT(HSHHIH :
A. eomliBerterd 1. @3 aBLIsHd OsTeTensd
B. aminfer 2.6 FHHTH Gl L HHMMe0 gBUBD LIgsTaid

sBLUIHH OBTeITENS
C. odered wBmid G .Ml 3. eurwy Cuney sBLUISHS OETeiTend

D. smbg 4. Qu@p Geumgriy Gl U@
A B CcC D

a. 2 4 1 3

b. 1 4 2 3

c. 2 3 1 4

d 4 3 2 1

11. If DANCE is coded as GXQZH, then how will RIGHT be coded?
a. UFJEWb. SGKEFX c. UFJWEd. UFWJE
DANCE aamugiGXQZH  aer @nidsiiun Lmed, RIGHT  eteiug)  etelieumm
SIS BLIBLD.
a. UFJEWb. SGKFX c. UFJWEd. UFWJE

12. A is 50% as efficient as B. C does half of the work done by A and B
together. If C alone does the work in 20 days, then A, B and C together
can do the work in

a.5days b. 6§days c. 6 days d. 7 days

A aaueuy B aaiueufer Geumevsdmaied 50% Hmer OCasmemiBeiteneuy. A
o B @meurmd  CaFJhHa G&Fulub Bauemevu 60 LTS enUIF
euwsauway C. C sallums @m Gamevenus 20 BT &eafed OFUIHTe,A,

B ommib C oua8uimy Qeventbgl Sibd Calenevenul 615HHenem [HTL H6li60
Qauleuy?




a. 5 [BIL&el b. 6§5nL<&36ﬁ C. 6 BT &6 d. 7 mrlsen

13. 7 men can complete a piece of work in 12 days. How many additional

men will be required to complete double the work in 8 days?

a. 28 b. 21 c. 14 d.7

7 walHTHeT @h Couemevenws 12 BT H6illed (i, ieuGauensvenuilt Gumed
Bm wLmE GCoumevenul 8 HITL&6Med OFUIH (PIYHdH Fm[HHEOTH 615 FHEN6
L &6lT Bxhemeu?

a. 28 b. 21 c.14 d.7

14. The price of sugar goes up by 20%. If a housewife wants the expenses on
sugar to remain the same, she should reduce the consumption by

a. 15%% b.16 %% c. 20%d. 25%

Frsamyuiar  almed 20% oFHfSIBE. @ OSHIE  FIHBMIHEG
Cgeval(Bd OFHTendenul IBHBIWLED AHES GCoueniBHEILOGTD  DieuT &FiJdbaHemTenul
GI6lGU6Te)| GHenmeuTs eumhid Geueni(hLd?

a. 15%% b. 16 %% c.20%d:25%

15. The ratio of income and expenditure of a person is 11 : 10. If he saves Rs.
9,000 per annum, his monthlyincome is

a. Rs. 8,000 b. Rs. 8,800 c. Rs. 8,500d. Rs. 8,250

QR eiHellel _eauge|  WBmpId OgFevalasr ealdlsd 11 @ 10. U] Q@
UBLSHBE . 9,000 CxlhHaHTe0, DieUHENLUI LDTSH 6U(HLOTEIILD

a. Rs. 8,000 b. Rs. 8,800 c. Rs. 8,500d. Rs. 8,250

16. The UN Charter was ratified in 1945 by
a. 25 nations  b.29 nations  c. 33 nations d. 37 nations
“en BT, FTTLLT 8 194560 gMmISOBTERIL HTHH6IT 6T6u0160NHMNH ?
a. 25 miBsem b, 29 mrEHeT  C. 33 BihEenr  d. 37 BIGBE

17. In order to control/ Prevent corruption, Alauddin khilji maintained
1. Vigilance on Nobles 2. Branding of Horses
3. Market regulation
Which code is / are correct
a. 1 only b. 2 only c.1& 3 only d. All the above
oa1ipemeVd B BLILGSS [/ HHHD SevTa ST SHevgd Bl LligHhHamal
1. o wihbGshmilesr & eusTasmemiLiL




2. @Peojseian PHImIUlGHeD

3. NS PUBIGLPNB

giiwmer GBuiG eg / eleweu?

a. 1 L@ b. 2 wl Gw c. 1,3 w@Gb d GCoBseui SHEIHHID

18. The Congress policy of pray and petition ultimately came to an end
under the guidance of
a. Aurobindo Ghosh b. Bal Gangadhar Tilak
c. Lala Lajpat Rai d. Mahatma Gandhi
sThSTFear  OFmeienswimer  CouewiBmHed BMID e  DleldHHe0  wimiesr
PWBSALTE WPResE& aUbDHSHI? :
a. 9ibCasT Gxrad b. uTev BBRIBTH) HeOHBIT
C. 6UMGUT 6UEQUIG FIul d. warHoT HMHS

19. Baryons are elementary particles and its types are
a. electron, positron
b. neutrino, antineutrino, positive and negative muons
c. lambda, sigma, xi, omega hyperons, protons and neutrons
d. Ti-meson, k-mesons, - mesons
QuUIGWIT6TOND 6TEIMB (HETMLSHHIH6T 6D euamsUlenansd CaFbheHal
a. 616V&HL [JmedT, LITFIL [JTest
b. Puy MGerm, e1dm MuylifGeorm, GBT BBID CTAHNT O ULITEITHEIT
C. eubLm, Halom, F, gO&ET, ewamLyTeer, LGTTL LT, MUyl JTerel
d. ewL-ameg kadgmer, ; -LSFmeim6N

20. Chronometer is used to
a. To determine wavelength of colour light
b. Determine longitude of place
c. Salinity of sea
d. Sun and other stars surface temperature
GGIMGeumbL LT eTamE@ UWeTUBHS GBS
BB @efuler 9meubheTdhdlenerd el miul
B SFe1 SHTHHCITemBUNn6T H6voTL Ml
sLedaT 2 alTlluiemeod SHerl miul
. Gflwer  wBpd  Up  plLassrmseler  GuoBurly — Geuliplensoulleneis
&6uoTL_Ml ULl

an oo

21. Bubble boy Syndrome is also called as




a. Blast

b. HGP c. SCID d. DOPA

GWp Fmieusst (Bubble boy) Gprui ereiiuig e1g?

a. Blast

b. HGP c. SCID d. DOPA

22. The disease syphilis is caused by the bacteria called

a. Salmonella b. Yersinia pestis

c. Vibrio Cholera d. Treponema palladium
g..uedlerd Grmuis@ sTyeniomet UTdlefluib

a. gmeo@LomGlereveLT b. Quitdelwmr GLerdigerd
c. aluflGuim smeoym d. wfiGurefor Levediguild

23. The unit of magnetic field strength is

a. Weber

b. Tesla c. Am! d. Kg m2A-18-2

SMhILILeVF GFmlaller eumuiriim®

a. eiu

b. GLeeor c. Am! d. kgm? A1 82

24. A cricket ball is hit at 45° to the horizontal imparting it a kinetic energy
k. the kinetic energy at the highest'points is

a. k

b.k/2 c. K/\2 d. zero

HL_SHHNHBIL 61 45’ CarawisHdHed ePfuniuBd SfE0sl Ubsl QEIH  DiHes

Buss  ommed Kk ewul OBTGhSIBSHI eiafledy 2 FF o wiy UeTefluled ©ighe

Buss BBV

a.k b.k/2 c. k\2 d. zero
25.The President of Indian National Congress at the time of partition of

India was

a. C. Rajagopalachari b. J.B. Kripalani

c. Jawaharlal Nehru d. Maulana Abul Kalam Azad

Ufelenetullest  Cumg @bdHw Chdw sTRSTHGT  HmeoeuTsds  E(HHIHeuT

a. C. ®@yreg@smumeondam b. ].B. @muenmef

C. MauamTeuTed Gh(TH d. QuwemeoTemm SILEL HeUTID SLFTH

26. Mrs. Subheela celebrated her wedding anniversary on Tuesday, 30t
September 1997. When will she celebrate her next wedding anniversary
on the same day?

a. 30 September 2003 b. 30 September 2004

L)



https://www.google.co.in/search?rlz=1C1CHBF_enIN727IN727&biw=1366&bih=638&q=Trypanosoma&spell=1&sa=X&ved=0ahUKEwjCnPXTxr7RAhXCN48KHXGwA88QvwUIFigA

c. 30 September 2002 d. 30 October 2003
S FLe0T leUHML  H(HOewT BTewen OFeleuTul &lpeno 199710 eu(BHLLD

&L DL  LOTSHLD 301D [BIT6IT O\BTEUITL_ITIQ6OTTI] . oY) eILIOUIT(D S
SIDMLUI DIBHH H(Hwew! HTewen DIBFH  Hlpemouled GememrLmHeUT].

a. QglLibuy 30, 2003 b. G&ri_ibuy 30, 2004

c. Gaui_ibuy 30, 2002 d. &&6Lmuy 30, 2003

27. Question figures

\BA]] ?

Answer figures

00 @@

a b e d

28. The next number of the sequence
1,2,5,6,14, 24,30, 120, ........

a. 91 b. 55 c 220 d. None of these
1,2,5,6,14, 24, 30, 120,....... ottt OHTLMesT IBHSH et
a. 91 b. 55 c. 720 d. BeuBmiein 61FHIa|Ole0m6V

29. Two numbers are in the ratio of 3 : 4. The product of their LCM and GCD
is 10800. Their sum is

~a. 210 b. 240 c. 225 d. 180

Bgewi(h eewiseT 3 : 4 6B AlBHHHev 2 eiener. 5.8.10. 15.6UT.D.  @lledr
QUmHBEG OHTema 10800, Teled SiauBBIET FnBEH60
a. 210 b. 240 c. 225 d. 180

30. The largest four-digit number which when divided by 4, 7 or 13 leaves a
remainder of 3 in each case, is:

a. 8739 b. 9831 c. 9834 d. 9893

T WslOufw mHragdends eenienent 4, 7 SleVevd 139160 auGHHG Cung
@6lOluTensleiievitd 168 3 SHewL HH, SlelbeuemTensmnid SHewTBHLIG

a. 8739 b. 9831 c. 9834 d. 9893

31. The m-RNA carries genetic information from




a. ribosome to DNA b. rRNA to DNA
c. DNA to ribosome d. DNA to mitochondrion
m-RNA oju& QFuigasmen emd(hbal 6mIEG bHHF CFe0HmaI?
a. eyBurBamiedmbs DNA -ai6@ b. m-RNA aledmpa DNA alis
c. DNA ale0mha enyGumBamiimng,
d. DNA afe0mba eniol GLmament MuwimalBa

32. In the world the density of population is very high

a. Bangladesh b. Monaco c. Australia d. China
® FHL IBAD HIFHBIOTET 10SHH6NT OFHTNdH DILTHSH BT BTH 6157
a. aunksTenGsaib b. GoremBsast C. LerodGredwim d. Serm
33. Match the following
List-1 List - II
A. Babur 1. Chausa
B. Humayun 2. Kanwah
C. Akbar 3. Mewar
D. Jehangir 4. Haldigati
A B C D
a 1 2 3 4
b. 4 3 2 1
C 2 1 4 3
d 1 2 4 3
QUT(HHHISH:
A. umuir 1.0gengm
B. anflomuyes 2.5 616U
C. &isur 3. @uweurit
D. ssmmist 4. amTeLH 5
A B C D
a 1 2 3 4
b. 4 3 2 1
C 2 1 4 3
d 1 2 4 3
34. The headquarters of the Survey of Indian Department is located at :
a. Jaipur b. Dehradun  c. Hyderabad d. New Delhi
BHHU Hlev DleTenel HIHBUTET HEN6LEMIOUISID 2 6o L LD
a. Gy b. GLyrBesr C. MABSHITUTH d. ys GLevel

35. Which of the following currents is also known as the Humboldt Current?




a. California Current b. Labrador Current

c. Peru Current d. Kuroshio Current

spseemi.  BOITLLmselled by  BEymiLd  eamwbBumedl  BHEFmLLLD
TS SLILIBGHMBSHI?

a. &eVlGumirefiwm BEyTLL 1D b. eomtiyLm BGym LD

c. Qum BEym LD d. &Cymagd@uim B8ym L b

36. Consider the following statement
1. Bhagawati committee was constituted to study unemployment

problem
2. Phillips curve relates unemployment with population
a. statement 1 is true, 2 is false b. 2 is true, 1 is false
c. both are true d. both are false

LNeiTeu(HLD FnBmIHEm6T LIS
1. Geuemsvaumuiliiesienio FobHene0 SLITUI LSS G(1D DNDHBLILIL L )
2. efllierd  cuemena] DHBETOHTNBUIL BT Fnlgul  Ga1emE0ITU I ILN6ITEnLOU L 65T

OSHTLITL|eML W]
a. 1 #f, 2 sam b. 2 &M, 1 saim
C. ®yewi(pd & d. BrewiG SHeumi

37. According to the ‘2015 World Happiness Report’ released by United
Nations Sustainable Development Solutions Network (SDSN), out of 158
countries Indiaranks at the
a. 137th spot .o "b. 117th spot  c. 97th spot d. 107th spot
&AW BTHBEMNST Bleveowimer euenTad  SiTa|se  euemsowenioliLimed (SDSN)
GeueMull Beitem “2015-2 _6v& WHPFHEHTT DMBIbenBUIT LI 158 BTHH6IM60
Gbgluimaler L Lb
a. 137aug L b. 1176ug @L1b C. 976ug @b d. 1076ug SL b

38. “Tribhanga” is prominent in which of the following dance forms?

a. Bharatnatyam b. Odissi

c. Kuchipudi d. Mohiniattam

SHHURIBT 6T 6161aIND HL OTSHHIL 60T CHTLTLEDL UIGHI?
a. UJSBILIQUILD b. qud

C. G&FFL d. Guraelwm’ LD

39. Law of multiple proportions was stated by

a. Lavoisier b. Lomonoss off c. Dalton d. Proust
uev alHHTEFFT allg WMImed Famriul L g)?




a. eomeurwiFHwim b. GeorGomGenmerd &yl C. LIT6OL 6T d. OQyemerdL

40. Consider the following statement
1. Oxygen belongs to chalcogen group
2. Barium is an alkali metal
a.1is true, 2 is false b. 2 is true, 1 is false

c. both are true d. both are false
L esTeU(HeUGTOUBENM  HEUGT:
1. odmimer FTe0BsTXe CHTGHHmWE CFIHHIA

2. Guiflwb ¢ &y o Geomsld &G
a. 1 g, 2 seuml b. 2 &#f, 1 seam
C. @rewiB & d. ByewiG Heumi

41. Find the greatest number that will divide 400, 435 and 541 leaving 9, 10
and 14 as remainders respectively
a. 19 b. 17 c. 13 o B
400, 435 wopmib 541 e elewidmen @H  GBIULILL  6T6ewIemITeD  aEHHEHLD
Gurgl wenpGw 9,10, 14 155D HevL sHmaHl aTeried. ST 6Tewr WiTg)?
a. 19 b. 17 c. 4% d. 9

42. The cost of fencing a circular plot at the rate of Rs. 15 per meter is Rs.
3,300. What will be the cost of flooring the plot at the rate of Rs. 100 per
square meter?

a. Rs. 3,85,000. b. Rs. 2,20,000 c. Rs.3,50,000 d. None of these
Q(H eIl Lalgel oeeruied Galell SiewnES 0L (HHEG H.15 eisd  en.3,300
FBH. DCH L algeu MU HOJ DWDEDS @h FHT OLL(HHG
¢.100 &IHLD 61660 HMJ DIMHE G OLTHSH 6F606| 6T6wT60 7

a. Rs. 3,85,000 b. Rs. 2,20,000

c. Rs. 3,50,000 d. @meu gzIdevameD

43. Compound interest on a certain sum for two successive years is 150 and

" 153 respectively. Find rate of interest.

a. 2 b.3 c. 20 d.5

Rm GUPUUILL  OFHTenddsTal  DBSHIBHH  DIewih  DLewI(BSHEHHHT6T
FHLSBLI0UDID  euiguimerg  (pemmGuwi 150, T 153 eefed ey  FHaisid
SHITE0T 5.

a.2 b.3 c. 20 d.5




44. A starts a business with Rs 3500 and after 5 months B joins with A as his
partner. After one year the profit is divided in the ratio 2:3. What is B's
contribution in capital?

a. 6000 b. 9000 c. 3000 d. 7500

A @m GamPensv H.3500 pHedl 1960 OBHTLRIGHHMBIT. GHTH OLIblisHs 5
IOTHBISEHSSG LIBG A-ulLsr B Smeudmsit. @m opedihdd LIBG
DITHEHHG DL SGHD 60Tl alSHD 2:3 eaied DGHOFHTHedle0 B-6i1 (1pHesH
616666 7

a. 6000 b. 9000 c. 3000 d. 7500

45. Three numbers are in the ratio %:%:%. The difference between the greatest

and the smallest numbers is 36. The numbers are:

a. 72,84,108 b. 60,72,96 c.72,84,96 d. 72,96,108
. . 123 . . A . L \ -
Apeiml  aemielt il 6I6m AP HHHL o eileNiel. (GMBBHSLILF LOBBILD

DHBULTF  6l6mIBEHDHG QL ullevTer alSHHULTFID 36 616160, DibHFH 6T6RIHEN
616010\6o160T601 7

a.72,84,108 b. 60,72,96 c. 72,84,96 d. 72,96,108
46. In glycolysis, the number of ATP consumed is
a. one b. two c. three d. four

FevenenasTedFlendled  BlaySleney - LWSLUGSHSLIUBGL  ATP  epeodgnmiserle
6163016001 &b 6 &

a. Qe b. ®yewi® C. LGB d. preng
47. Which one is Rodenticides?
a. Zinc Phosphate  b. Mercury c. Cadmium  d. Manganese
LTledTeu(HeUGITOLBMIET 615 616Vl 03B Me06V?
a. Mmis LmerdGui b. Qi@ C. SO d. wnhiseis

48. Fahien stayed in India for Nine years during the region of

1. Chandra Gupta - I 2. Samudra Gupta

3. Chandra Gupta - II 4. Kumara Gupta

Code

a. 1 Only b. 2,4 Only c. 3 Only d. 3 & 4 only

WIheDLUl  STeuGH e  umaswme  ShHumeled QLG eWIHBNTHS
SRS UN(HHSTT.

1. (1p&Heumd FhHHTGLISHT 2. FWPSHT GUST

3. BIeWILTD FhHTGSLIHT 4. @WIY GUST

a. 1 (B b. 2 w0 C. 3 L (BD d. 3, 4 ' @Bw




49. The American constitution inspired the Indian constitution Assembly to
adopt which of the following features of the Indian Constitution?
I. Judicial Constitution
II. Judicial Review
III.  Fundamental Rights
IV. Preamble
V. Vice President as ex-officio chairperson of the Rajya Sabha
VI. Residuary Power vested in the Union
VII. Union with powerful centre and distribution of power between
union and states.
a. LIl and III b. LILIILIV and V

c. I, ILIIL,V,VII d. All of the above
Uetoupd DbhHw  Sfwevenolig FUL  DIDFRISEHT, 6lbhSH DIDFHMSBL]
euBpiomy  o6wféds  opdfwevemwliyg  FlLb SbHul  DFFuieoeniolii]d
GG HTIHCHTeMTS allenmiduigh?
2. bFHS Hns SfenLoLiy
II. pHH OB alDTFIRISCT
III. splumL o _fenibadeir
IV.  wsiienieny
V. glwenmr  @GQUTddH  HELalT, | LDTHeUHIG6T  SHemelulel  DIeVIRIEVT6D
HEN6LTTH  A16IHIEG H6EV
VI. spdlLib BspeTen SiFHl&TImisen
VII.  sauedeniowmer " SIpHamsHmssd OaTewiL  HHW  DF&F  LOBEBID oSSl
LOBMILD LOAHIeY DIF&HHEHHEG B G SiFsrrl udlie).
a. I, IT wgmib 11 b. L IL, III, IV w@min V
c. [IL I, V wppio VII d. GBI SHIMTHHID

50. Under Article 2 of the constitution of India which territories were
admitted into the Union?
I. Dadra & Nagar Haveli II. Goa, Daman and Diu

III. Pondicherry IV. Chandranagar
V. Sikkim
a. All the above b. only IV c. LI, and IV d. LILIV,and V

BphaHw oFweoeml g FULU Ufleydanm 261L1Q 6HFH OTHeLMmIS6T bl
wLelwienil 61 BFTdhdidh CdbmeTemiLL L 6or?

L srgym oppid BT anGeued I1. Gameum, LMD LOBMID WL UL,

M. urewng&F@a IV. shglgm BT

V. faglb




a. CLBHEWIL.  HIEMETHBILD b. IV ol (i

c. I, II wmbmud IV d. L II, IV wsBgd V
51. Which of the following is correctly matched?
I. Mahendravarman - Rock cut temple
II. Narasimhavarman - Single stone Rathas
III. Raja Simhan - Mahabalipuram shore temple
a.land II b. Il and 111 c. [ and III d. LII and III

SlpameuaTeuBmIeT 61g Fflwmasll QUTHSHSLILL (Beiteng)?

I 10@ahATeUTLD6ST - @Loumy BCamealed

II. mBydfibioest - PMBMBHH6E0 JHID

III. pregdlibioest - &TUIYTID &L BHm]  Camailsd
a. I wommup 1T b. II wmgw III

c. I wmpp III d. LII wspw LI

52. Which cell organelle is anabolic?

a. Mitochondrion  b. Ribosome ' c."Golgibody  d. Chloroplast
abd OFeL o emepmiy 2 ullitieuTmeT SLbGausBE e M GFueded
FBUBHH SIBSHI

a. enLoL_ GLTebT oL udm b. enyGuTBsmibd

C. Camevemnas © MLl ss6il d. @GemmGymiienmerdr_

53. Consider the following
I. The golgi apparatus was first described by camillo Golgi
II. Golgi apparatus is referred to as dictosomes
III. Golgi apparatus is involved in the formation of lysosomes
Which is / are correct?
a.land II b. II and 111 c. [, II 111 d. None of the above
LT esTeU(HeUGITOUNBENM  HEUGT:
I. smievBeomr &meLd eTaieT GHTeLMS 2 MILILBHem6NTl LMY (LHeT (LPFH6eded
Q61 6uTTIT.
II. Gamevenas o mIiHe 19HBLTEFTIDH6T 6TTHID DINLDES HLILIB S TN360T.
III. Gamevens o miiseT mevBam@amibseier o MLGHH U0 FHLIG BT
aigl/ elemeu &ifl?
a. [ wmpp 11 b. II wommp 111
c. I, Il iopmip 111 d. ameb Bsvensv




54.”“ Any species that readily donates a pair of electron is called base”. This

statement is

a. Arrehenius definition of base

b. None of these

c. Definition of acid by Bronsted - Lowy

d. Definition of Lewis base
“@m Gamg eedLJTenel 2 L elguiTd OCBTHEHBEHIQU  61HhH (hH  HELO(LPLD
“smyb eI’ BbhFH OHTLITIH

a. 9TBaelwierd &My CBTeiTend b. @meu ggidevemev

c. LGymeaiterdBLL. Geomullelt oiflev alendsd  d. euruilevsry GCsmeiTend
55. Sugarcane grows well soil

a. Slightly alkaline b. Slightly acidic

c. Highly acidic d. Neutral

H(HLDL| 6161I61U6NE LDGITENN60 [HEWIE UMD

a. GMBHSLLL &Y b. GoBhsUlF dev

C. 9FHBLULF blev d. phHemev

56. Which one will replace the question mark ?
Bxpoltal GMUILL B SHH60 au(bHLD 6Tewl WTH|?

3
. 6 . - . ;
7 9 6 9 7 3
4 8 2
a. 115 b. 130 c.135 d. 140

57.lf x+y+z=9 & xy +yz + zx = 23, then the value of (x3 + y3 + z3 - 3xyz)
1S

a. 108 b. 207 c. 669 d. 729

X+y+z=9 & xy +yz + zx =23, aafle0 (X3 + y3 + 23 - 3xyz) a1 wHIL

TG0

a. 108 b. 207 c. 669 d. 729

58. If the area of a square with the side a is equal to the area of a triangle
with base a, then the altitude of the triangle is.
a.a b.a/2 c.2a d. None of above




a oIMB FHTHHT USHD DleNey OBMewIL FHJ UFLILIGTOID a 616Im DIQLILIGHS
Slee] OamewiL  (pHCaTemidHer  LUFLIIBEG FWwD  eeled  (LpSHBHTennts S 6
GSHBIWILD SHT60TSH

a.a b.a/2 c.2a d. el ggIdevemev

59. 12 spheres of the same size are made from melting a solid cylinder of 16
cm diameter and 2 cm height. Find the diameter of each sphere.

a.4 cm b. 6 cm c.8 cm d.10 cm

oGy 6m96uq,06ﬁ611 12 Gamemmisemen 16 G&F.15 allLd 1mpwd 2 .10
o wigpeiten o (Hewenulel(pbdh o (hHFH IBSHBILBHOBH 616160 (8&5%11@5@@
Al LD HTewish

a.4 cm b. 6 cm c.8cm d. 10 cm

60. Two numbers are such that their difference, their sum and their product
are in the ratio 1 : 7 : 24. Find the product of the numbers.

a. 42 b. 48 c. 52 d. 60

Brenih eTenIBemenl GUTBISHSHeumTUleL, SlauBBBE S Cwiwimer aldhawmgid,
SBBIST FnBH60 BB - DeuBmiel  CQLIHBSMBLIVET LPBlulener 1:7:24 61631
AP HHH60 o olenerl. Db 6T60IH6IN60T OlLI(HBBMLIGVET 616316017

a. 42 b. 48 c. B2 d. 60

61. The community known as the people of the 'Fourth world' is

a. Backward community b. Forward community
c.Scheduled tribes d. Scheduled caste
‘BTAIHToUSH 2 60H6T DHH6T 6160 DIGNPHBUILBD UG 6T
a. UBUGSSII L UGl Teo b. 2w eugliie

C. ID6M6Y. QUMD D6 d. &8 FHymell Tsei

62. The mostly accepted measure for finding out the level of employment is
a.Usual Status b. Current Daily Status

c. Current Weekly Status d. Current Monthly Status

BGouemev euTUILI MHlewevemwl DINSlhgHI CBmeiTen 6hFH HLDHHEWIL  (pedm  GuflgHibd
MBI 6BTeTTILIHES TR ?

a. QPGB HIID b. M&bsTEL DIGBBTL HID

C. HHDFHTEL QUMY HJLD d. PapsTen 1018 HJb

63. Which one of the following is the correct sequence of the given hills
starting from the North and going towards the South?
a. Nallamalai Hills - Nilgiri Hills - Javadi Hills - Anaimalai Hills




b. Anaimalai Hills - Javadi Hills - Nilgiri Hills - Nallamalai Hills
c. Nallamali Hills - Javadi Hills - Nilgiri Hills - Anaimalai Hills

d. Anaimalai Hills - Nilgiri Hills - Javadi Hills - Nallamalai Hills
&6 CaTHHBLILL (helTerm emevHelen auflenFuled o1& UL HHeV(HHEH OCHBHTH
auewy Fllwmen eufledFWITE SIMLOHSBIGTETSHI?

a. [BEVGD LDEMGL  (GHEUIBIH6T - BV  (GHOIBIHET - MEITH  (GHGIBIH6IT
SLENEITLDEN6V  (F6ATWIH6N

b. omaiomen GIWEHET - MeITH  GOIBIBeT - Heodfl  (GHeTBIB6N
[H6LEVLDEN6V (&) 60IN3IH6NT

C. [B6LGUIDGNGY  GHAMIHET - MeIUTH  GHOIBIH6T - [HeOSIM  (GH6IBIH6I
DLENEITLDENG6V  (6ATWIH6N |

d. sumaiomey  GEBIBeT - Beodfl  GEIBIBET - QeIUTHI (G 6ITBIBET

[H6LEVLDEN6V (& 60TNIH6NT
64. ‘Maitri Express’ railway service is related with

a. India-Pakistan b. India-Bangladesh

c. India-Nepal d. India-Bhutan

“emogifl e1dhervligerd” OHTLTeuewig Caemeuu 61 GCIHTL LML Wi
a. ®bFHwm — LTSerdSHmest b. @bFHwin — UmIBMTCHAS
Cc. ®bdHwr — Gpumend d. ®bslwim — 1Lmei

65. Match the following:

List I List II

A. Ahmed Nagar 1. Nizam Shahi

B. Golkanda 2. Qutub Shahi

C. Bijapuri 3. Adilshahi

D. Bidar 4. Barid Shahi
A" B C D

Bl w2 1 3 4

b. 4 1 3 2

c. 1 2 3 4

d 2 4 1 3

CQUT(HHHIS:

U guied | U guieo 11

A. OB HBT L.Blgmb gmans

B. @GamevOmmemrim 2. a1 FTans

C. sty 3. &iFlevaTan

D. o 4.urfgaTans




b. 4 1 3 2
c. 1 2 3 4
d 2 4 1 3

66. Which one of the following is wrongly matched

a. Vitamin B1 - Thiamine
b. Vitamin B3 - Niacin

c. Vitamin B6 - Pyridoxine
d. Vitamin B5 - Folic acid

LedTeu(HeueToUBMIET 618 SHeumTaLl OUT(HbHUleTend

a. el Lierr Bl - emGWILO6IT
b. el L1flesr B3 - Bluirdlest
c. el L1fesr B6 - ewLIflwimaendl 6ot
d. el Liflesr B5 - Gumedé oyfevd
67. The Sinu atrial node is situated in the wall of
a. Right atrium b. Left atrium
c. Right Ventricle d. Left Ventricle
I Yfl@G6e0mT Ham) SieMHGIeNen G LD
a. aevgl elerfluid b. L& el Muib
C. alevdl OlauentL_iidleiT d. 88L& OGeusn’ fdleit

68. Which Leucocytes contain heparin?
a. Neutrophills b. Eesinophils
c. Basophils d. Lymphocytes
abd BCaTengl ansiiumilenend OsmeniheTengi?
a. Byl Grmieverd b. m.8GarmLisverd
c. GuBamiserd d. eSwBurensL erd

69. Consider the following statements
Assertion (A): In 1916, Maulana Mohammad Ali and Abul Kalam Azad
resigned from the Legislative Council
Reason (R): The Rowlatt Act was passed by the Government in spite of
being opposed by all Indian members of the Legislative Council
Select your answer from the coding scheme given below:
a. Both A and R are true and R is the correct explanation of A




b. Both A and R are true but R is not the correct explanation of A
c. Aistrue, but R is false
d. A is false, but R is true
LlesTeu(hHeUeTalBenm LIS
gaBm  (A): 191660 (pabH e WLBBID DL HEVTD FTH  FLL
Goevemeuulled SmHbgH LSl allevdleorT
smyend (R): gL Guweveweuuied @phHw o miiilenmsst Gyemeol &1L Hemg
aHTHHCUTHID DITF Slwd FLU L DTS UIS]
a. A oppd R afl R eeug A-alBg gflwner alendsid
b. A wppib R af R eemwg A-alBg sflwmer elendsinaeo
c. A gfl spemmed R sHeum
d. A meam spemed R &l
70. The second law of thermodynamics states that
a. heat is neither created nor destroyed
b. heat can be converted into other forms of energy
c. heat flows from a hot object to a cool one
d. heat and work are the same
Geouli Buidbsaluledler @FewiLmd algl @GuliLg
a. Qeulib 2 (HaTHaD  &eLene0 DIPIGBULILA|ID E60L6N6V
b. Ganiu SBBeIsT LBIOIYAIDIS 2 66T
C. Geulub, o wi Geuliuplensd GuTmHeled BHbeH GMBHS GaulLblemnevsE
QUIT(HEHHEG UT|LD
d. Geulind,Beuensd BFeWIGID ceitC®

71. Two students A and B appeared in the same examination. A secures 35%
of a marks and fails by 15 marks. B secures 165 marks and fails by 25
marks. Find the maximum marks.

a. 600 b. 750 c. 500 d. 900

m Cxptemen A wppid B e @yewi® LoTewiauTHeT er(psleT. A IDTemTEUT
35% wdICuUes CQuBm 15 wHICUGIewIed BHTFH @iphEHTer. B omewieuT
165 wFHlGuewr  Gubp 25 waHlbueseniled GCHTFHF  EUHSHTET 6660
I1HCHTaletT DIHSUILLF DHICLICHT 6T6il6I6NT6)]?

a. 600 b. 750 c. 500 d. 900

72.1f Q1, Q2 and Qs represent the first, second and third quartiles of a data,

then co-efficient of quartile deviation is

a. Qa_Ql b Q3+Q1_2Q2 C Q3_Q1 d Q3+Q1

2 Q3_Q1 . Q3+Q1 2




Q1, Q2 wBmd Qs eleUmel @H  LsTealalourhHaer (WHeO, EF6wILTD LOBMID

CLOGIIMBITLD  STEULDTEITRIG6NT 61607160, HT6VANVHE  (G60THLOTCIIH).

a. Qa_Ql b Q3+Q1_2Q2 C. Q3_Q1 d Q3+Q1
2 Q3_Q1 Q3+Q1 2

73.Raju purchased a Maruti Car 3 years ago for Es.2 lakh. Its value
depreciated each year at the rate of 25% p.a. What is the present value of
the car?
a.Rs. 83,475  b.Rs. 2,83,475 c. Rs.84,375 d. Rs. 87,435
JTeg>, &(H LOM(HG  euewiiguilenedl, 3 LWIBBHEOHDHG (LPeTeImed h 2 6V FLD
WAABE auTRIS®TT. SiH6T WAL UIBHE 25% ofpFfumLboHs! a6,
SIbhF LOM(HG euewnguiler HBCUTmMHUI OS] 6T6dT60T?
a.Rs. 83,475  b.Rs. 2,83,475 c. Rs.84,375 d. Rs. 87,435

Directions (Q. 74): Study the following pie-chart carefully to answer these

questions:
SBPOETHSHSILL(BeiTen aul LalensasluLSHms UTTHS allenLuler

Total number of passengers in six different trains (A, B, C, D, E, F) = 4800
on Qruisvseailed LwemMbOFUIUID UweniiBefier aeamieanidama (A, B, C, D, E, F) =
4800

Percentage-wise distribution of passengers
pwewrd QFuiuld Lwenileelern eawicmlband FHalhdhdHlev OCBTGHBLILIL (HeiTeng)

74. What was the average number of passengers travelling in Train A, Train
C and Train F together?
a.816 b.826¢.824 d. 812
ruisd A, C, F g dweamnedo uweond Osuiud vuwieniseiler eleamrenildmas
grmafl  Srewis

a.816 b.826¢.824 d. 812




75. The monthly incomes of A and B are in the ratio 5 : 4 and their expenses
are in the ratio 3 :4. If “A” saves Rs.2400 per month and ‘B’ saves Rs.1600
per month, what is the income of ‘B’?

a. 3000 b. 2400 c. 4000 d. 5000

A pmb B uler wrgeumomer eldsd (wemGw 5 : 4 Bmib  GFevey
aldFb wepGw 3 : 4. A er wrg Gxllyen.2400, B &1 wrg  Gauiliy
5.1600 ei@dlle0 B 61 107T&H QUHLOTERID 6T6laI6TE]?

a. 3000 b. 2400 c. 4000 d. 5000

76. Image formed by plain mirror is
a. Real, inverted, same size b. virtual, erect, diminished
c. real, erect, same size d. virtual, erect, same size

FoHem Ohouled GHmeirmpid LilbLb
a. Quuniibu, HEWeVSD, FIO SI6N6Y
b. wruniibub,GpyTerg, Fpiuig.
C. Quuniibub, Gmyme, FLOS6M6)
d. wrunibuib, GwyTerdl, FlD SleTe)

77. Which one of the following is not a correct match?
i. Bal Gangadhar Tilak: Bombay Association
ii. Mary Carpenter : National Indian Association
iii. Surendra Nath Bannerji : Indian National Conference
iv. Anand Mohan Bose : Indian Society
a. ii, iii, iv b.ii,iii  c.onlyi d. only iii
LT e3TeU(HeUGITaUBMIGT HeUMTET E6n6ewienuls HTewldh
LUTEUSMISTSH] HeoHbT : LIDUTUI FRISLD
il. Gufl srmousiT : Caflw Bhauid SHPHD
1.  &Cuihdrprsd urerTed : @haHul CapFul Fnl L enibliL
iv. @oebhdh Cuorser Gumerd : @hHFHw FmisD

a. ii, iii, iv b. ii, iii Cc.1 WL (B d. iii @G0

78. Which of the following hormone is secreted by Neurohypophysis?

a. Thyroxine  b. Androgen c. Oxytocin d. Prolactin
LT 656U (HeUedT UMD MI61T 6bS QMTGLO 60T B, CrrenamsGu.”.enLigleromerd
I HSUILHSBSI

a. enBHITeb6nl6Ht b. sy Gymeges

C. S1HIGLTendeir d. yGymevmeigent




79. For further development the test tube babies, the embryo is put inside
the uterine endometrium at the
a. 2 celled stage b. 8 celled stage

c. 4 celled stage d. 32 celled stage

Gammpemennd  @WTUI  (WBH  HHBHSHII0  SmHeutenid  euenTFHSH0OIH60
eibblemevulled B(pHlemLIUTeT 616TCL TOLDL MluighdHled CUTHSHSUILIGLD.

a. 2 QFeumeT Hlenev b. 8 QFevmeT MHenev

C. 4 QF60B6T Hemev d. 32 OFevmeir Benev

80. Which one of the following was the host country for the World
Environment Day (WED) 2015?
a. Brazil b. Italy c. China d. Australia
LNetTou(heueieuBmIeT  6lhd @6l 201510  SewN9MEHTHl 2 60&  SMBmIGLD60
PSS QBTSS!I MPBGSD BIG ?
a. 1Gydlev b. 85zm6d c. Feorr d. @1edCreduwim

81. The reversal magnetising field applied so as to reduce residual
magnetism to zero is called
a. Retentivity b. Coercivity
c. Residual magnetisation d. Susceptibility
hs SMheHHeenoullenal LDMUISHBE WLIBB SHMEVSD STHSLOTHGWD  L|eVLD
LWL SHSIAIEH! 61616UTHI  DIeNLDSSLILIBHLD
a. maUBHH(HHHeV b. smbsLoTEEGHE0
C. b STHSLOTEHEGS60 d. embg gBUSSme

82. Semi-conductor materials suitable for making LED are

a. Gallium Arsenide (GaAs)
b. Gallium phosphide (GaP)
c. Gallium - Arsenide phosphide (GaAsP)
d. All the above

LED uiewen o (houmdhs LWTLIHLD &DBEL GHA)

a. &TeUWd SLTFeme(h b. &smedwib uTerdenLIB

C. HTeVWID-TFemet(B LITeroenL(® d. GuBseHi. SIEMTIHHID

83. Match the following
A. Industrial development Bank of India (IDBI) 1.1948
B. Industrial Finance Corporation of India 2.1971
C. General Insurance Corporation of India 3.1976




D. Tamilnadu Industrial Investment Corporation 4.1949
A B C D

a. 3 4 2 1

b. 3 1 2 4

c. 2 3 4 1

d 1 4 3 2

QUIT(HSHHIH

A. @pawu G mPsd Gubum’ B eumig) 1. 1948
B. @paw Gamped HHobspE0D 2. 1971
C. @bgdw Qurgl &I (HeHEsLD 3. 1976
D. sps 05T (WHedl (HdHHHID 4. 1949

an oo
RN W Wy
B W = o
WA NN A
N ==

84. Which of the following states shares its border with maximum number
of Indian states?
a. Madhya Pradesh b. Andhra Pradesh

c. Chhattisgarh d. Assam

SHIPHEWIL  LOTHLVRIBETED  61FH DFHS @bHUl  LOTHIELRIGEET  6T606MEVUITHD
OB mem1(H6ITeNH.

a. wHANITCHFD b. eupdr MGxHa1b

C. FLI96N&IT d. sjerverombd

85. The Author of the Biography of PM Shri Narendra Modi ‘Modi
Incredible Emergence of a Star’ is
a. Rajiv Shrivastav b. Rajat Sharma

c. Rajdeep Sardesai d. Tarun Vijay

@psw  gswot 1nf BCIbhHy Gumyg SeuTseler swafend mHIeomer Gomg
Beralfl L6 61oTO6Ter0 &Y. .1 erOLMT 61 QpFfwiim wimfr?

a. gredeil nfeuerdg el b. yres Fiom

c. gmesll FBHd d. smewt elegul

86. Seven girls can do a piece of work in 13 days, six boys can do the same
piece of work in 12 days, nine men can do the same piece of work in nine




days and six women can do the same piece of work in 14 days. Who are
the most efficient?

a. Girls b. Boys c. Men d. Women

7 Fpdset g Geuemevemw! 13 BT Hellavid, I8 Geuemevenwt 6 FmieuTHeiT
12 prlseaian, o185 Geumevenws 9 SewigeT 9 BT S6MID wWBBILD D6CH
Gouemevemwl 6 OuewideT 14 BT S6MeVID (PIYHFHTeL BauiTdHelled wmT DIFs
Gouemevdhdmeir GUBBEUTHEIT?

a. dpidsel b. FmleuTser C. SOLENIH6IT d. Quewtsel

87. State the name of the following graph of a frequency distribution.

,T_ .

&
o
= :
£
U7 Class-interval :
a. Histogram b. Bar.diagram
c. Pictogram d. Frequency Polygon

SPHEHTAVID. @(Mh ' DIeMELGIIGIT LIT6IED 6UMTLIL SHFHI6H Gl

.T .

Frequency.

q Class-interval -
a. OImeL6eUeTTEnNeT GF6ieUELD b. Ul e UL
C. 2 (heUsLILL LD d. oimevbeuemienien LIeVGST6mILD

88.What is the angle between the minute hand and hour when he time is 2 -
157
a. 300 b. 2210 c.27 10 d. none of these
oewil 2-15 @mHGWEUTH BIOL (WeiTEhdHGD el (WpeiTEphdHEGlD Bent Gul
® eitenT BHTeu0TD 6T60T6017




a. 30° b. 221/5° c. 27%2° d. @emeu ergia|dlevenev

89. Every web page has a unique address called . It locates the
pages on the internet.
a. HTML b. FTP c. URL d. GUI

QAIOTH UMETHHNMHHBSGHID @@ Hol (WHaufl o _ewilh. GG
61601 SIMPSEBLILIBGH MBS Bzl B e6IL_6TOIBL 196D ®_6iT6l USHBHMS

ST S P HIBS).
a. HTML b. FTP c. URL d. GUI
90. is a set of conventions used to pass packets from one host to
another.
a. HITP b. FTP c. Internet protocol d. TCP

GIeiTLIgGI QUL LeVmIseT  eleueumml  @(h  SHewllurmluledmha!
B\e1Gl60TT (I SHenllIoLITM &G SIDIIUIUGS MBS TGITLIENS &ITLDT6VN &b (FHLD
OBMI(LPENBHET DL MIF UG
a. HTTP b. FTP c. Internet protocol d. TCP

91. Calculate oxidation state of Pb in Pb3O4
a. -2 b. 2.66 c.3 d.8
Pbs0460 Pb et &ucenlegBenmm  mlenevulenest e (6.
a. -2 b. 2.66 c.3 d.8

92. Process in which ore is melted with a flux and reducing agent is called
a. Calcination b. Smelting

c. Zone refining d. None of these

SigloTeidl LlendbevsiL el CFidhg o (HHGW  aleweruled U HLLGSSHID
QuImmeiT 61517

a.  SEUTGEMTLOMEh(GHLD b. o _mEH@H60

c. Bxmeit FHHFHHMIILY d. agieb Eevenev

93. An embryo may sometimes develop from a cell of an embryosac other
than the egg. This is called as
a. Apospory b. Parthenogenesis

c. Parthenocarpy d. Apogamy

(TGS &lev FLOUWIBIGH61T 60 (LPL_6mL CFe0&H61M60(HHI! QUGNTJITLOGL
S(HLHLUNO(HHS aIeTTHIBEH BFHet G

a. 9CumerdGuim b. unT#HBarmeleidflerd

C. unirHGeormabmiLi d. 9Bursld




94.The absorption of the food material by the parasitic from the host cell is
through
a. Appressorium b. Infection hypha

c. Haustorium d. Hyphal walls

eyWIfuler  OgevsalelBhhad 2 ewiauteard  CHTUIS(HLOSETTED  61H6vICLPEILD
d(hSHBLILBS BIBSHI?

a. o18yGeromMuib b. @aoLsFeET wamuT

c. ammeroGLmiluib d. emamLed FeuTsmei

95. Consider the following statements.
I. Swaran Singh Committee was appointed in 1976.
II. Verma Committee was appointed in 1999.
a. I only is correct b. II only is correct
c. Both are correct d. Both are wrong
LT6ST6eU(BLD  SnMBmIcen6 LIl
I. seugerr dm G 1976-@60 SiMIDHSLILILL )
II. Qaumom &) 1999-860 SIMDSBLILILL H
a.lw’ @G &M b. Il o G &
C. ®yewipd &l d. ®yewid Heum

96. The first stem-cell bank of India has been opened in
a. Kolkata b. New Delhi c. Chennai d. Hyderabad
BbHITale (1pHe0 cpeuFlFed eumid FHmebslul L G 1b?
a. GamTevasHsT b, HubiLeved  C. GFeTenen d. ewamgymumg

97. The first Bengali political drama which presented the story of the
brutality of English Indigo planters?
a. Rast Goftar b. Indian Social Reformer
c. Neel Darpan d. Shome Prakash
BengBasr  Opmpevmeniider  HTer  HLRIHCeowITHeNET DI SHEGH (LMD
UL DLIgSHeI STLIQUI (LFHED GUMISTET [BTL LD
a. Jmerol &HT. .LIGT b. @pPu Feps FTsHHHHaTH
C. [H60 SHTLILIGH d. Gagmd ysTed

98. Article 75 of the Indian constitution does not provide




I. The total number of Ministers, including the Prime Minister, in the
council of Ministers shall not exceed fifteen percent of the total
number of member of the House of the people.

II. the president may require the council of Ministers to reconsider
such advice either generally or otherwise, and the president shall act
in accordance with the advice tendered after such reconsideration.

II. The question whether any, and if so what, advice was tendered by
Ministers to the President shall not be inquired into in any court.
IV.  The Prime Minister shall be appointed by the President

V. The other Ministers shall be appointed by the president on the
advice of the Prime Minister.

VI. The Ministers shall hold office during the pleasure of the president.

VII. The council of Ministers shall be collectively responsible to the

House of the People.

VIII. A minister who for any period of six consecutive months is not a
member of either House of Parliament shall at the expiration of that
period cease to be a Minister.

a. Il and III only b. LIIIII,IVand VI

c. LIT VII and VIII d.I1V,V,VI and VIII

@b opFwevemoliF  FLLGHOT < FLLES  Fpl, 75 ozl  umBs

GSBILILalls0emev.

oM.  omwFsTmauulled  UFso  wHHN o 6ol SemwssFiseler  CrdHs
61601606,  LDSHHOTMAIUT0 2 6ol 2 mINILTeTaHerMei 6163016001 d6mHUN60
LS mabHl AWSHHTYBGSD DHBTH EN(HHDS FnlTHI.

II. oewssgemal oL eflss Goorgmetenws  CUTHeTHGsuT
9lovevgd GCouml  allgonaGeur @ ufldFevenet  OFUILIOTH  GQUITHS
SHMEVAIT DIMFFTemUILLD Cal dHeumd. ISHFHMBW  oBLIflFevemarsGLl
UB& eupmslLBlD HGoTgFmeardh@ gBLU  GQUTHSH SHeMeLaUT OlFUIEOLIL
Gouewt(hLb.

III. sEwWFsTsTD  GRUTHS HMeLa(HdHEG gCHaID  SLBeUTEFmeTH6T
QUPRISLILLL ST?  SIIug  supmISLILLCIQHLILIET  oTeiienl £ GeuTFemneudH6iT
QUPRIGBLILIL (helTerTenl 6l alleufHhend  6hdH  @0h  bFH  LOSIMBLPLD
Gl HeOTHTH).

IV. gsp wpdfl @Guurss sHmevalrmed HuIdlssIBaSmT.

V. gsw whgHiuiear BeorgmeauiasiBuiey, @&) SIMmIDFFTHM6ENT GQUITHid
SHEWEVAUT BIULILOSSIMITT.

VI, guurssd sHmevalT SHHUSHWLUID D]  DIDIFFTHT  HHIGHE
uHalulGeoBu @HHH Bulsvild.

VII. GQurgs SIMLDFFTMAIULIEGLD, LD BTGNS PIMC) QTS HIOTES
QuUITBIILT@LD.




VIII. eabs om GEIIL STe0HHQID,  LITITEHOEMBEHH60  6hd
Slwaluleid OHTLIFFAWTS M OTHHIS6ENTS 2 BILTITES  E6060TLD6D
DHESGSD @Mh DIOFFT, DbHSH UBTaUH 1OTH (PYaled DIMIOFET
ugpalulled BdHd HGHHmW SUPSHSIMIT.

eiteupld @Mluibhseamentt LweuBsHs giwnear alemlemuwld CHTHoHBHHHALD.

a. IT woppd 111 b. I, II, I, TV wimid VI
c. I, II, VII wmmb VIII d. 1V, V, VI wspib VIII

99. Auxology means
a. The study of finger prints
b. The study of adaptation of organisms
c. The study of subsistence patterns
d. The study of physical growth
SLE6EMTEVE  GTETLIGI?
a. alged Cremsenw uie] OFuwleuensll LB LIQLILIGI
b. o ulflerdspesd LBBlul SyUie,
C. Uenpliumsny (wensLll LBl Lig&HsHe0
d.wefls o Led euenitddl LBM LIgdHs60

100. In Glycolysis select the correct one
a. Glucose — Fructose — Fructose-6-phosphate
b. Glucose — Glucose-6-phosphate — Fructose
c. Glucose — Glucose-6-phosphate — Fructose 1.6-Biphosphate

d. Glucose — Glucose-6-phosphate — Fructose-6-phosphate
gilwmeiensd CHTHESMG:

&) M6 BT6VIF 60

a. @end8sTerd — LFsGLmerd —  LgsHGLmerd-6-Lmerd@ui

b. &epsECsTerd — & 6EHBCHTE0-6-LITerOGUL. —  LIFsHGLTerD

C. GenHCasTerd — G EHHCHTer0-6-UTerOBUL. —  LiIFdhGLTerd-1,6-emuimero@ui’
d. G&en&EBsred — G 6EHEBGHTerd-6-UTerdBUL. — (G Terd-6—LmerdGuL_

101.Find the compound interest on ~ 1000 at the rate of 10% per annum for

18 months when interest is compounded half - yearly.

a. 157.63 b. 167 c. 155 d. 150

D]  MIBEHGH RMHUIPOB el  DFNIL T CFrhsiuLTe0  h.10005E
openi® el gaisd 10% aisliug 18 WTHEIGEHHGHD dnl B QUL lQ HTEI6D

a. 157.63 b. 167 c. 155 d. 150




102.A sum of Rs.2200 is lent into two parts so that the interest on first part
for 7 years a 9% may be equal to the interest at the second part for 9 years
at 15%. Work out the sum lent at 9%.
a. Rs.700 b. Rs.800 c.Rs.1500 d. Rs.1600
h.2200 el OHTend @rewi(h UGHHHNTS el l9dhG alLUUBSBSEH. (LPSH60
UGHwmergdl 7 ewihBEhbGH 9 alpdaTh el aiHHH 6L aUPRISLILIBSBSEI.
BrewiLTougdl UGSHwTerdl 9 uewibsendd 15 alpssth ey  aighdhseo
QUPRISLILIBS BS). Brewih UGHHeT eutullevTdayd HLEGHD aully @Gy
SleTaUTeIHl 6oy, 9 alwpdhaTh el aiHHHe0 PRSI L  CFHTmas
616116)61T6)?

a. Rs.700 b. Rs.800 c.Rs.1500 d. Rs.1600

103.1f the interest on money be 2 Paise per Rupee per month. What is the
rate percent per annum?
a. 12% b. 24% c.2% d. 6%

R GUIUULL O05TmssHE @Ih WISSHIBES dh (HUTLISEG 2 UFT 6ullg
AGFHSBILGSBSE 6lalleD, Il lg aipHld i@ 61616667

a. 12% b. 24% C. 298 d. 6%

104. fr+Z+(§—§j><z is equal to

5 2 \2 4) 8
a. 1£ b. 33 C. 2E d.5i
20 20 20 20
£+Z_ §_§ XZ - LDﬁ' <
5 57272 8601 LiL| STenldH
ah 1E b. 33 C. 2E d.si
20 20 20 20

105.In a certain code FLOWER is coded as 36 and SUNFLOWER is coded as
81 then how to code FOLLOWS?
a.42 b. 49 c. 64 d. 62
FLOWER e anmjsemsd 36 aampid “SUNFLOWER” e anmjsams 81
aaipid  Gdsiu’LTed FOLLOWS  6aeiiB  eauniihend  6lhbdh  6T6mI60IT60
GNBSHaLLGBLD?
a.42 b. 49 c. 64 d. 62

106.The Government has constituted a committee to study the feasibility of

adopting a new financial year. The Committee is headed by
a. Ashok Lahiri b. Rakesh Mohan




c. Shankar Acharya d. Arvind VArmani

BbSHlul SITFTRISLD L& b 616D JMmISH OameiTemi’ L
S LBISEHHHTH  FTHFHUIS FnBIBEN6T TTU  @(H  SLOLIGeDU  DIDIDSHHI.
SIHS SO 1uilelr HemeveT

a. 98sms evansif b. g1@xay Gomemes
C. FMIBT SIFFTIWIT d. opelbs &l SiTioewd
107.Who is the current Leader of Opposition in the Rajya Sabha?
a. Jaswanth Singh b. Ghulam Nabi Azad
c. Arun Jaitley d. Manmohan Singh
SBGUTMSHW  LOTHleVRIS6TmIUNET 6IHITHSLF  HemeveuT wimT?
a. meveuhdh Fmi b. @eomd mBL euaTH
C. Smewr G 6 d. wenGorser i

108.Which of the following event a considered as a Machiavellian devise of
the British in the administration?
a. Charter Act of 1813 b. Queen’s Proclamation

c. Partition of Bengal d. Rowlat Act

eitaupld  Hidsbeseiled  61g UMl gead HileuTasHdHed wrdsdlwealeved L LD
TRSEBHBLILBHBHI?

a. ulLwds LD 1813 b. @yrewfluies @b

c. oukisliflefeneor d. Qyemeol. &L LIb

109.Consider the following statements :
Assertion (A) : ‘Laterite soil is well developed in Kerala.
Reason (R): Kerala receives high rainfall during south west
monsoon.
Now select your correct answer according to the coding scheme given
below :
a. Both (A) and (R) are correct and (R) is the correct explanation of (A)
b. Both (A) and (R) are correct, but (R) is not the correct explanation of
(A)
c. (A) is correct but (R) is wrong
d. (A) is wrong but (R) is correct.
gaBmI(A) BlHHB6L et CHyenmailed HEISH 2 (HOUTH MBS,
smyewid (R) : Gayenm (OIS LI(HeUBT60EH 560 SIHBLOTET
LoenpLIGILITHeTeneurll  GILINISeT360T.
Gopanpiw QJewih FBBIS6T 60
a. (A) wspw (R) &M Gwsd (R),(A) &@ gfwmer elendsid
b. (A) wppd (R) sf spemed (R),(A) &@ sflwurer alenssd oievev
c. (A) sf semmed (R) seum




d. (A) seum syemed (R) &f

110.Identify correct statement
a. Diamond is highly reactive form of carbon
b. In graphite, different layers are held be vanderwaal forces
c. Graphite has 3 dimension structure
d. Fullerene has 20 pentagons with 15 hexagons
gllwrereuBens CaiTHoHMH:
a. snueler e o wibhs alenarsHBel SINLIL] eUJLD
b. @ymemulpuied DIBHEGHEHHHMLGU GUTEHILTeUTeVN alend 2 _6Teg)
C. &pmewul  (pUIUMOTeT SienIoLlenLidh 6T :
d. yeveufasr 20 mmiGasmeniid, 15 opIGHTeNIBIGEMm6NTS OB TamI(HeT6TSI
111.The idea of motion of electron in elliptical orbits was introduced by
a. ].J. Thomson Model (1897)  b. Rutherford model (1911)
c. Bohr model (1913) d. Sommer field model (1951)
HeTaUL L LILTenHUNeD  6TeUSBLITaIS6T  SuISHD”  6letip O melTend  WMJTeD
SIBI(WSLILGSHSLILLL S
a.J].J. smbger wrHM (1897) b.epaiTGunT®h omdf (1911)
c. Gunim wrgdf (1913) d. gmoir Hed® T (1951)

112."India Bio Diversity Award 2016" has been given to
a. Khanchenzhanga National Park, Sikkim
b. Kaziranga National Park, Assam
c. Pakke Tiger Reserve, Arunachal Pardesh
d. Corbett National Park, Uttarakhand
@& Hul teveuiflud el 2016, @HBE URISLILIL (HeiT6Td)
a. BehFehamisT Caprdlw ymsm, FHaPHb
b. ardlymiar CGawr ymisT, Sjerdervmid
C. usbBs Leddel HMILBLD, HewITFFe0 LITEHFID
d. &mmeu’. Capdlw YRIST, 2 HHTHTew

113.The National Handloom Day s celebrated on which day in India?

a. August 24 b. September 7

c. October 7 d. August 7

Bl maepHadM BTl AbHHuITaled 6hd BHTeiled Gamewi T LGS BHI?
a. oiFeroL 24 b. Q& ibur 7

Cc. 9&8LmuT 7 d. symerdl 7




114.Which three High Courts were established in the year 2013
a. Manipur, Meghalaya, Tripura
b. Chhatishgarh, Jharkhand, Uttrakhand
c. Arunachal Pradesh, Nagaland, Mizoram
d. Manipur, Mizoram, Meghalaya
20138410 Sy emTged CHTBBIONSSLILLL  (pSIBI © WIT HEHILDOIBHRIGET 6leneu?
a. wewilyT, Gsmeowt, Hiflygm
b. F5HB509BIT, WTTHBTEI., ©_5HHTHBTERIL
C. oImewimgeoLl LIT8sHFID, BTeTeLTHGEI, WIGFTILD
d. weniligr, WGy, Gameowm

115.The biggest Indian merchant trader of South India during 17t 'Century
A.D was

a. Kasi Viranna b. Ahmed Chellay

c. Sunca Rama Chetty d. Virja Vora

.. 1781 mITBBTenNget O&herelhawmaler WaUGUTu Shalul euemisiT
a. ardl aiyevwremnm b. @iswa OFsveomul

C. GRIBJTD GFL 19 d. elred Geurym

116.The average age of 6 members of a family is 25 years. If a member. that
family whose age is 45 years, expired, what is the average age of the
remaining members of that family ?

a. 20 b.30 c.21 d. 26

RH GHOBLUSHEL 2 eten 6 o miiilenseler gyrafl  euwg 25 SLETHSHEN.
bHSHH  GOBLUSSHT 45 auuFHenL W @H [BUT &STeoons alGamIT.  SibhsHd
GbLLSHe0 LOH(LpeiTen BUTHeT6 FTTall euuigl 6Tedreon?

a. 20 b. 30 c.21 d. 26

117.The average monthly salary of 16 workers is Rs. 800. If the salary of the
manager is also included then average monthly salary is increase by Rs.
50. What is the monthly salary of the manager?
a. Rs.2650 b. Rs. 1400 c. Rs. 2000 d. Rs. 1650

16 Gsmpeorenideier gyrafl  wwr1g eamHuid  @h.800 LS.  Guevmeriflest
oaglui(pd DIFev CFTdslLl LT, lauTHeler LT gFITam  oagluid .50
oIFHafNsaBa.  DbFH Gevmeniler OTH e HUID 6T6dT6017

a. Rs.2650 b. Rs. 1400 c. Rs. 2000 d. Rs. 1650




118.A tank is 25 m long and 16m wide. If water is poured into it upto the
height of 72m from the bottom, what will be the volume of water in cube

metre?

a. 400 b. 100 c. 200 d. 220
@ BTHOST guller Bembd oieeod wWewpGuw 25 15, 16 15. BHOHTL 19uiled
SPmba Y2 15 o wrsHFBE BT Briulul Geengl  eefled  DIHESHT 19uiled
® eiterl Hifledt OFmeitenene] Hmewid (Heor LOL L ifled)

a. 400 b. 100 c. 200 d. 220

119.The diameter of a sphere is 6cm. It is melted and drawn into a wire of
diameter 2mm. The length of the wire is :
A.12m B. 18m C.36m D. 66m
R CamanddHear all L 66515 FHmer 2 (HHH, 2105 allLid Osmemr
SIS oTBBlemed, SibsHd SLIUNET Herd wmgh?

A.12m B. 18m C. 36m D. 66m
120.Number of bit used by the IPv6 address

a. 32 bit b. 64 bit c. 128 bit d. 256 bit

IPv6 address-8ev o _siten LI (hebe1ein  eTawtaunlldbend WITg?

a. 32 bit b. 64 bit c. 128 bit d. 256 bit

121.What is the potential of a half - cell consisting of zinc electrode in 0.01 M
ZnS0O4 solution at 25°C. E°=+0.763V.
a. 1.08V b. 0.822V c. 1.54V d.1.01V
25°C  OQeaulimleneouiled ks  elevdbl Gymligener 0.01M ZnSO4  seveneauuied
O mewIheiTenm  DIMTLIGIHVHHE Hmer BBev, elelalene]? E°=+0.763V.

a.1.08V b. 0.822V c. 1.54V d.1.01V
122.Match List I & II select correct answer:
List -1 List - II
A. Etching on glass 1. Zinc carbonate
B. Calico printing 2. Bordeaux mixture
C. Skin ointment 3. Hydrofluoric acid
D. Fungicide 4. Potassium dichromate
A B

4
3
1
2

= QR = A
(}Jﬂkl\)l\)g

3
1
2
4

an o




uCiguwied T &g uluwed I o et GQuImes gfwmer el emuwl CHiThoHM®:

L iguiey I U iguied 11

A. seavienimy 9IfdH60 1. mis srruGer

B. &1608sm £155(B&H60 2. GumiTLT&Hen Hevenel

C. Gxpme0 @erflibLy 3. ewaml Gym liepfles ©devld

D. amenmeir GabmeveV 4. Qum_Lrdwbd enL@&8ym@ioL
A B C D

a. 3 4 1 2

b. 1 3 4 2

c. 2 1 3 4

d. 4 2 1 3

123.Where did Prime Minister Narendra Modi launch the guidelines for
Operationalization of the Pradhan Mantri Fasal Bima Yojana in February
20167

a. Sherpur b. Guwahati  c. Kolkata d. Jaipur

Mageufl 201660 Wgso  whHA  uged ior  Guimggenm  GFwIEOLIT(HE ETHBIT6
aufasripuiemer LgHwT  BOIBST Guomg @eliTHenTed OCFHTLRISILLL G 1D
617

a. Qagmy b. sa®TH C. QamedHsT d. Geguiriy

124.The official language commission, Article 344(1) of the constitution was
duly appointed on:
a. July 7, 1954 b. July 7, 1955
c. July 7, 1964 d. July 7, 1965
SITFWeeLIYE - FULHHeT ieveued Gompl  spewemtwid, FULlnlifley 344(1),
APMBWITS - 6TLICUTH DIGNLDSSLILIL L Si:

a.27emev 7/, 1954 b. sg7emev 7, 1955

C. egeamov 7, 1964 d. eg@emev 7, 1965
125.1dentity incorrect pair

a. First finance commission -1952-57

b. Fourth finance commission - 1966-69

c. Tenth finance commission -1994-1999

d. Fourteenth finance commission - 2015-2020

SHEUBTET E)enEmTenUIS SHT60ISH

a. (IpSH6L HFH HLEMEMIUILD - 1953-57

b. BreiETD B SLememTILD - 1966-69

C. USHIHTOUFH HEH DLemeuoTILD - 1994-1999




d. l4eug Mg SiemewILID - 2015-2020

126.In which one of the following countries the 16t World Sanskrit

Conference was held?

a. Nepal b. Thailand c. Bhutan d. Bahrain

eiteupld  e1b®  BTBH®6M60 @6y 166Uk 2 608%  FLOEVH(HS  LOTHT(H
henL CLBm&HI?

a. Gpumernid b. smuieomhal C. LLmeir d. uaBenyest
127.Acceleration due to gravity (g) with height, with depth

a. increase, decreases b. decreases, increases

C. increases, increases d. decreases, decreases

yelufmiy @S o2 widmsd CuTpIbH _  SpH®G - CLTBIS3

a. oFHsfsG, GHmBud b. @pub, £1FHBMHGID

C. 9HHMHGID, 93BG d. @emub, Gempulb

128.As part of National Climate Change Policy, Indian government is
planning to raise to installed capacity of renewable energy by the year
2030 to

a. 350 GW b. 176 GW c. 200 GW d. 250 GW

Cxpdw  umeubHleney.  OTBB ~ GaTeTemasuled @ UGHuler Ly, Sbhslul
SIIFTRISD _ elaleuene). LHINSESS5HHS  HBmed o BudbHenwl  2030D
SLEWTYBES6T OHES. S L O [HeTen).

a. 350 GW b. 175 GW c. 200 GW d. 250 GW

129.Which one of the following nations adopted its first democratic
Constitution in September 2015?

a. Bhutan b. Myanmar c. Nepal d. Singapore
etteu(hd BTHH6M60 61HFH @M DIHE  (PHEL MSBTUIS  HITFUIVeDLOLIENL
CalLbuT 201560 gBmIch CHTEwIL G

a. Ll L mest b. bwimestiof c. Gpumenid d. Fmisliy

130.The antibody mediated immunity is directed by the

a. T-cells b. B - cells

c. Monocytes d. Phagocytes

aLergumy  aulfl CrTUISHmL STUIIBEG aUbleu@GHH@SGID CFe0He6N
a. T — Qgeomei b. B — GFeomeit

C. GurGamena L [Hae6l d. GuBsTenal Beer




131.Which one is the first search engine in internet

a. Google b. Archie c. Altavista d. WAIS
Bemenil 2 _0HHH0 (PHev CHHOUMS BwihHHTTE HHSLILBHS?
a. Google b. Archie c. Altavista d. WAIS

132.Which one programming language is exclusively used for artificial
intelligence

a.C b. Java c. J2EE d. Prolog
CFwmens HiewewBalBster LIF5HCws mHireords Gomfl egi?
a.C b. Java c. J2EE d. Prolog

133.The arithmetic mean of a group of 20 observations was_ caleculated as
12.5. It was later found that one observation was wrengly read as -15
instead of 15. Then the correct mean is

a. 13 b. 14 s d.14.5

20 etewidpellen  gnl BFFIMSH  12.15 eleoT  HISSILLLUIL L FH. LeennT b
aTenidelled @aiml 15 aRHUSMSGHL uUHeoTsd -15 6l  HUMIHEVTS  61(HHHIS
OameTemiILL_(HelTendl SHewiLMIWLILILIL (BeiTenig) oTeie0, gFhlwimer Fymafl

a. 13 b. 14 ¢-12 d.14.5

134.AEF] : KOPT :: 7 : QUVZ
a. GKLP b. GLKP c. HKLP d.HKQL

135.What is the next figure in the figure series?
CaTHoBBUILL BeiTenm UL H0HTLI60 DIBSHHIUHD LD wTg?
Problem Figures

LT

Answer Figures
Ll
=S

2 3
b.2

el
e

—
b

5
.3 d.5

-~ [
il

a.

136.The gas that traps 300 time more heat than Co2 is




a. CFC b. Methane c. NH; d. Nitrous Oxide

CO; ow &l 300 WLAEGHNT HBE Senalsd CAILSMBHI  LTHIHTHEGHD

T 61gI?

a. CFC b. 185@ze0t c. NH; d. enpligyerd &y Hemer®
137.A Variety of toxic compounds and oil are degraded by

a. Pseudomonas b. Gibberella  c. Fungi d. Rhizobium

Leveuend HF&L GQUTHL H6iT, eTewiClemiul SiHlulaBenB DNSS 2 Ha|FBI.

a. G&BLTBLomererd b. AiLGyeveor

C. LGhHonTFH6IT d. eyGamduib

138. What is a normal platelet counts?

a. 1 million per cubic cc b. 1 million per cubic mm
c. 2,50,000 per cubic mm d. 10,000 per cubic mm
@155 G660l (hHerilel elemieunildena ?
a. 1 Wevelwest / e CC b. 1 evelwiert / &6 10.15
C. 2,50,000 /ser 10.18 d. 10,000 / ‘@er 0.1
139. Which one contain dihydrouracil loop?
a. mRNA b. rRNA c. tRNA d. hnRNA
LevTeu(heueeuBmIeT 615 enL enamBCrmugmdled eumiiileneid OHTeamihHeTenl.
a. mRNA b. tIRNA c. tRNA d. hnRNA
140.Match the following
A. Raman effect 1. Magnetic field
B. Zeeman effect 2. Scattering
C. Stark effect 3. Relative velocity
D. Doppler effect 4. Electric field
A B C D
a. 3 1 2 4
b. 4 3 2 1
c. 2 4 3 1
d 2 1 4 3
afleng] o et aufleng - ewemiQUTHSHH Fhlwmer alenLenuld SHTewIH
auflemal aufleng 11
A. gmoeit aflenere 1.&MHHLIL|60LD
B. disir allenerey 2.815m60

C. eoLnTd alenena] 3. gy HewFBeusid




D. LmienT elenerey 4. 106iTLevLD

A B C D
a. 3 1 2 4
b. 4 3 2 1
c. 2 4 3 1
d 2 1 4 3

141.Consider the following
Assertion (A): On rainy day small oil film on water show brilliant colours
Reason (R): Such brilliant colours are always due to polarization of light
a. Both A and R are individually true and R is the correct explanation
of A
b. Both A and R are individually true and R'is not correct explanation
of A
c. Aistrue and R is false
d. A is false but R is true
gaBpl (A) : wep HETefed Hewrewim W5H o 6Tem GLoeLIWI  6TERWTEIEWIL  LIL 60LD
6T  616NI6IBIGBED6N STl (HHMSI
srgenid  (R): .. @eflullesr  senalensnBeu  gefiTdles  6u6wTemImISE EMhH @S
BITJETLOME LD
a. A wppid R @resipBo afl Gweb R esiug A olBg gfwmer
MeN&HLOMGLD
b. A B R GrewipGo &fl euemmed R eaaiug A alBg  sfwrer
A6 &6V
c. A gfl gemed R seum
d. A sam gemed R &l

142.The temperature in Celsius scale at which the temperature in Fahrenheit

th
l; its value (in Celsius scale) is

equals

a.0°C b. 40°C c. 80°C d. -40°C

QFe0dlwerd GeuliBlensy Diema|Gsmeailed ©emWIlIGUMID Geulil Hleneoullesr uiler
CQuUmBG WLAIIBGF gwwmear ..utfeiasl.  Geuliublensy  FHILIMLS — SH(HLD,
Gauliuplensv (OFeLSluIende0)

a.0°C b. 40°C c. 80°C d.-40°C




143. Who is called as father of microbiology?

a. Robert Koch b. Antony Van Leewenhock
c. Edward Jenner d. Louis Pasteur

BlewTenl WIfwellel SHhHend WITT?

a. gmui’ Garg b. L6 auTel 6LGUGTIAMTS
C. ol auT® OegesreuT d. sumuferd wmerdLIT

144. Genetic disease Albinism in human is an
a. Allosomal dominant trait
b. Autosomal recessive trait
c. Sexually transmitted disease
d. Allosomal recessive trait
LoeN&Heofled LoFLiuied Ghmuimer SIeOLINFID 66
a. 9160GeuTGFMIDEL GoeVTHSBS  Li6wIL|
b. oy GLrBamDed BB LewL]
C. umevaulfl uFeyd Gpmul
d. ©1608eurBa D @HEIS U LieuTly

145.Which of the following pairs is/are incorrectly matched?
Fold Dance States
1. Hikat : Himachal Pradesh
2. HurkaBaul : Uttranchal

3. Lava Dance :Lakshadweep

4. Perini : Kerala

a.1,2 b.2,4 c.1,4 d. 4 only
LN esTeu(HeUGTOUMMIGT HeUMBTET Een6enienUls HTewIsh

L& 6UND LOMBI6VMIG 6T

1. afdéal . @wrFFeolIlyGxha1d

2. QBTHT UTeL : o SHSHJTEhF60

3. 6UMAUT [BL D : VU FHHa|

4. Gufle : Gayenid

a.1,2 b.2,4 c.1,4 d. 4 ot G

Directions (Q. 146): Answer the following questions from the line graph
given below. The graph shows the runs scored by a batsman in five matches.




&6 OCaThasaLIL (Beiten  CaTi(Balendsll UL LSHFHenear LWALGSHSH  UFlever.
BULLSHO @ WLLLUbBS ljiT @mbgH S LEE6N0 6hHS @LLIBISEI
QB &S SLILIL_(HeiTeren.

140 -
120 -
100
80 4
60 -
40
0d 2%

0 e e —T T

1 2. 3 4 5
146.Percentage decrease in runs from 4th to 5th match was
a.15% b. 12% c. 14% d. 25%

el UUbg ! aifT 4eughl UL HHVBHHAH S6udh 'L $H60 6lbHS F6i1s6r 6o
FHaIH 2 _UIT6e)] 6l6leI6TeY?

a.15% b.12% c. 14% d. 25%

147 Which of the following is not a classification?
a. Chronological b. Geographical
c. Qualitative d. Questionnaire
BIPHHEIL BNl 61%H  aIMBLILBHSHIHD HlewL Wng|?
a. BTGV b. @wibagm C. LIGWTL] d. efemmiuiguied

148.1f same patterns of operations are followed in all the three diagrams
given below the missing number is
6] Lo &H\fl Uit CFweoLIT(HEHm6TdH 6MBUITE0T(H &GP STLILL (HeiTer
LIL.BI& 66N  6T60IH6IT GMISBILILLT6L alBULl L 6lewl Wing)?

4 b 8
g | B2 A 9 |25]b to | 7!
tet 10 16
a.29 b. 31 c. 30 d. 35

149.1f clock is called television, television is called radio, radio is called oven,
oven is called grinder and grinder is called iron, in what will a lady bake?




150.

a. radio b. oven c. grinder d. iron
BRIMTHMBHH OCHTMVHSTL & 61D, CFHTmeLSHSTL el euTGleTTeV  6TIMILD,
UTOIETTEVIENUI  EUGHT 6TRIMILD, EUENET &HIENTEWILT 6IIMILD, HleNT6RIL DI  DIUIGH
GIRIMILD SHIMPSHFHTEV, 6(H Ol eTendHd OsTenih o ewiall Oum(HL sener Geous
emeULILIT6IT?

a. auTGeormed b. geues C. S\eMyEmTLIT d. ower

0.05x0.05x0.05-0.04x0.04x0.04

0.05x0.05+0.0002+0.04x0.04
a. 1 b. 0.1 c.0.01 d. 0.0001

?




GROUP | - PRELIM 2018

PRE-MODEL EXAM - II-ANSWER KEY

1 2 3 4 5 6 7 8 9 10
B A B D A B A B C A
11 12 13 14 15 16 17 18 19 20
A B C B D B D B C B
21 22 23 24 25 26 27 28 29 30
C D C B B A B B A B
31 32 33 34 35 36 37 38 39 40
C B C B C A B B C A
41 42 43 44 45 46 47 48 49 50
B A A B D B A C B B
51 52 53 54 55 56 97 58 59 60
D D C D A B A C A B
61 62 63 64 65 66 67 68 69 70
C A C B C D A C D C
71 72 73 74 7O 76 77 78 79 80
C C C A B D C C B B
81 82 83 34 85 86 87 88 89 90
B D B D D B A B C C
91 92 93 94 95 96 97 98 99 100
B B D C C C C A D D
101" | 102 | 103 | 104 | 105 | 106 | 107 | 108 | 109 | 110
A C B C B C B C B B
111 | 112 | 113 | 114 | 115 | 116 | 117 | 118 | 119 | 120
D C D A A C D C C C
121 | 122 | 123 | 124 | 125 | 126 | 127 | 128 | 129 | 130
B A A B C B D A C B
131 | 132 | 133 | 134 | 135 | 136 | 137 | 138 | 139 | 140
B D B A D D A C C D
141 | 142 | 143 | 144 | 145 | 146 | 147 | 148 | 149 | 150
C C B B D B D A C C




